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import matplotlib.pyplot as plt
import numpy as np
import pandas as pd

from sklearn import |inear_model

Data=pd. read_csv(
“D:2022_ %3R4k Et=E/StatData/StatData02_2. csv”,

skiprows=1, # 19TH &ML

names=["mid (x)', "final (y)']) # h5 LB (EFBEHSLFFELL)

Data

mid (x) final (y)

# EERAMADSA TS

[Bl)m 534

x=np. ¢_[Data[' mid (x)']] iy
y=np. c¢_[Data[ final (y) 1] #Z

plt. figure(figsize=(4,4))
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# EOKRES (6,4 BNTI+ILb+

plt. scatter (x,y, c="blue") b=y il |
plt. xlabel (' mid-exam’)
plt.ylabel (' final-exam')

Text(0, 0.5, 'final-exam')
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In [5]: model=linear_model.LinearRegression ()
model. fit(x,y) it EIRERERD S

Out[5]: LinearRegression()

In [6]: plt.figure(figsize=(4,4)) # EDOKES (6,4) BNTIA+IL b
plt. scatter (x,y,c="blue") IR %= &R
plt. xlabel (' mid-exam’)
plt.ylabel ( final-exam’)
plt.plot(x,model.predict (x),color = "red ) HENRE LR
plt. savefig(' StatData02_2 MF-Regression.png’) # Ef& 774 )L (png) & LTHRE (WFETA LY FUID)
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In [7]: plt.figure(figsize=(4,4)) # HOXEE (6,4 HATI74I+

plt. scatter (x,y,c="blue") X
plt. scatter (x, model. predict (x), color = "k', marker ="v') #fitted value
plt. plot (x, model. predict(x),color = "red") #EFE R

plt. xlabel (' mid-exam’)
plt.ylabel ( final-exam’)

Out[7]: Text(0, 0.5, 'final-exam')
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In [8]: p=model.coef_
g=model. intercept_
print (p, )

# ERELR y=px+tq DESE
# ERERR y=pxta DY

b

[[0.57803468]] [37.40462428]



In [9]: p=model. coef_ EUFEHR y=px+q DIEE
g=mode|. intercept_ EIREHR y=px+q DTIF
p=round (p[0] [0], 2)
g=round(q[0], 2)
print ( y=px+q', 'p=+str(p), o= +str(q))

y=px+q p=0.58 ¢=37.4
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